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3.3. 115 4% & & B 55 | 24 310 310 310 0 1000% FBETT

2 | 3.4 3 i Kt R B B ds| 20 1,360 1,360 1,360 0 1000% FBETT

3 (344 EpaBmE OB 2 90 90 90 0 100.0% FEZET

4 |3.4.5i5% B F & 3 48| 18 11,090 8,974 413 9,387 1,703 84.6% FHEH

5 |3.46i "k £°7& & 16 3,200 3,140 0 3,140 60 98.1%| FHEF

6 (34718 % A5 & 18 1,600 0 0 1,600 00% REF

7 |3.48i£" &0 | 18 4,850 1,886 0 1,886 2,964 38.9% FEFErh

8 [3.4.10i% " B H & B 4| 16 1,900 0 0 1,900 00% REF

9 (3.4 11ig "B A 15 48| 16 3,120 1,352 1,352 1,768 433% FE—MET

10 [3.4. 1215 £ 2 BR &t O 45| 16 1,400 1,400 1,400 0 1000% FEFET
3.4.131%" i £ | 16 2,000 941 0 941 1,059 47.1% FEHEH
3.4 1416 "k " | #8| 16 1,040 278 278 762 26.7% FE—EMET
34150 | & E # & 16 13,000 10,044 10,044 2,956 77.3% BE-EET
3416k " | = "m 4| 16 5,620 3,271 3,271 2,349 58.2% FE—HET
3.4.17im % & # B i 16 3,885 1911 1911 1974 49.2% FE-EBET
34181 “=" & & H 4| 16 5,050 4,694 0 4,694 356 93.0% FHEF
3.4.20(m” % & Vp Y& ) 20 7,930 2,656 2,656 5,274 335% FE-HET
3521k "4 x4k ‘& @ 1 3,280 469 469 2,811 143%| FE-BET
3.5.22i% "t = A TER 5 | 12 640 157 157 483 245% BE-HET
3.5.24i%" = = °°2 4| 12 1,290 1,290 1,290 0 1000% FBEZTT
34251 "mTA A 'R f8| 16 3,040 2,078 2,078 962 68.4% B|BE—HET
3.4.20im” % L7 U 18 5,170 3,033 0 3,033 2,137 58.7% FEET

& 80,865 49,334 413 49.747 31,118 61.5%




